
Radians	
  and	
  Degrees	
  
13.3	
  
	
  

A	
  Radian	
  is	
  a	
  unit	
  of	
  angle	
  measure	
  based	
  on	
  arc	
  length.	
  
An	
  Arc	
  is	
  an	
  unbroken	
  part	
  of	
  a	
  circle.	
  
	
  
If	
  a	
  central	
  angle	
  , 𝜃,	
  in	
  a	
  circle	
  of	
  radius	
  r	
  intercepts	
  an	
  arc	
  of	
  
length	
  r,	
  then	
  the	
  measure	
  of	
  𝜃is	
  defined	
  as	
  1	
  radian.	
  

	
  
	
  
The	
  circumference	
  of	
  a	
  circle	
  of	
  radius	
  r	
  is	
  2𝜋𝑟.	
  	
  
360°  is	
  equal	
  to	
  2𝜋  𝑤ℎ𝑒𝑛  𝑟 = 1.	
  

	
  
	
  



	
  
	
  
	
  
I	
  do	
  
Covert	
  the	
  degree	
  to	
  radians.	
  
1) -­‐45°	
  

−45°
𝜋  𝑟𝑎𝑑𝑖𝑎𝑛𝑠
180°

= −
𝜋
4
  𝑟𝑎𝑑𝑖𝑎𝑛𝑠	
  

	
  
We	
  do:	
  
Convert	
  the	
  degree	
  to	
  radians.	
  
	
  

2) 60°	
  
	
  
	
  
3) -­‐270°	
  

	
  
You	
  do	
  on	
  your	
  whiteboards:	
  
Even	
  Talk,	
  Odd	
  Write.	
  
	
  



Convert	
  the	
  degree	
  to	
  radians.	
  
1) -­‐90°	
  
2) 150°	
  

	
  
	
  
	
  
Converting	
  radians	
  to	
  degrees.	
  
I	
  do.	
  
1) !!

!
𝑟𝑎𝑑𝑖𝑎𝑛𝑠	
  

	
  
!!
!
𝑟𝑎𝑑𝑖𝑎𝑛𝑠   !"#°

!"#$%#&'
=150°	
  

	
  
	
  
We	
  do	
  	
  
Convert	
  radians	
  to	
  degrees.	
  

2) 4𝜋  𝑟𝑎𝑑𝑖𝑎𝑛𝑠	
  
	
  
	
  
3) !!

!
  𝑟𝑎𝑑𝑖𝑎𝑛𝑠	
  

	
  
	
  
	
  
	
  
	
  



You	
  do	
  on	
  whiteboards	
  
Even	
  Write	
  Odd	
  Talk	
  
	
  
Convert	
  Radians	
  to	
  Degrees.	
  
1) !!

!
  𝑟𝑎𝑑𝑖𝑎𝑛𝑠	
  

2) – !
!
𝑟𝑎𝑑𝑖𝑎𝑛𝑠	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  



I	
  do:	
  
Find	
  a	
  positive	
  and	
  a	
  negative	
  angle	
  that	
  is	
  coterminal	
  with	
  the	
  
angle.	
  
1) 𝜃 = !

!
	
  

	
  
Original	
  radian	
   𝜃 =

𝜋
3
	
  

	
  
Add	
  2𝜋	
  until	
  there	
  is	
  a	
  positive	
  
angle.	
  

𝜋
3
+ 2𝜋	
  

Simplify	
   𝜋
3
+
6𝜋
3
=
7𝜋
3
	
  

	
  
Subtract	
  2𝜋	
  until	
  there	
  is	
  a	
  
negative	
  angle.	
  
	
  

𝜋
3
− 2𝜋	
  

Simplify	
   𝜋
3
−
6𝜋
3
= −

5𝜋
3
	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  



	
  
We	
  do:	
  
Find	
  a	
  positive	
  and	
  a	
  negative	
  angle	
  that	
  is	
  coterminal	
  with	
  the	
  
angle.	
  
2) 𝜃 = !

!
	
  

	
  
Original	
  radian	
   	
  

	
  
Add	
  2𝜋	
  until	
  there	
  is	
  a	
  positive	
  
angle.	
  

	
  

Simplify	
   	
  
	
  

Subtract	
  2𝜋	
  until	
  there	
  is	
  a	
  
negative	
  angle.	
  
	
  

	
  

Simplify	
   	
  
	
  
	
  

	
  
	
  
	
  
	
  
	
  
	
  



You	
  do	
  with	
  your	
  partner	
  on	
  whiteboards.	
  
Even	
  Talk,	
  odd	
  write.	
  
Find	
  a	
  positive	
  and	
  a	
  negative	
  angle	
  that	
  is	
  coterminal	
  with	
  the	
  
angle.	
  
1) 𝜃 = − !

!
	
  

	
  
	
  
	
  
	
  
	
  
	
  
Using	
  radians	
  on	
  the	
  calculator.	
  
	
  
Make	
  sure	
  you	
  are	
  in	
  the	
  right	
  mode.	
  
	
  
1) Sin	
  60	
  

	
  
2) sin !

!
	
  

	
  
	
  
	
  
	
  
	
  
	
  



	
  
Closure	
  
Explain	
  how	
  to	
  find	
  coterminal	
  angles	
  for	
  radians.	
  
Explain	
  how	
  to	
  find	
  coterminal	
  angles	
  for	
  degrees.	
  
Think	
  of	
  2	
  coterminal	
  angles	
  to	
  !

!
.	
  

Think	
  2	
  coterminal	
  angles	
  to	
  100°.	
  
	
  
	
  


